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QUESTION 1

What is an advantage of a core/edge topology? 

A. There is increased management for SAN capacity planning. 

B. It has performance characteristics suitable fortiering. 

C. Multiple backup processes can now run on one ISL. 

D. Fewer edge switches are used in this design thereby reducing the overall cost. 

Correct Answer: B 

 

QUESTION 2

A customer has an application with a single I/O stream. Data will be replicated over 100 km using DWDM between 2
Gbps SAN fabrics. From where does the most significant delay come? 

A. replication algorithm 

B. DWDM devices 

C. ISLs 

D. switch internal routing 

Correct Answer: C 

 

QUESTION 3

Who is responsible for the security in the SAN? 

A. LAN Security Manager 

B. SAN Configuration Manager 

C. SAN Change Manager 

D. SAN Security Manager 

Correct Answer: D 

 

QUESTION 4

On what is the design of the "Tree" SAN topology based? 

A. a fabric design that has switches that act as policy controllers for storage failover 
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B. a fabric design that has one or moreFibre Channel switches acting as fabric backbones which dedicate all FC ports
as ISLs 

C. a fabric design that has one or moreFibre Channel switches acting as the ISL trunk manager 

D. a fabric design that has one or moreFibre Channel switches acting as the Topology Configuration server 

Correct Answer: B 

 

QUESTION 5

What is a design property of the Core+Edge+Leaf SAN topology? 

A. It can start at one switch and grow almost without limit. 

B. It allows many devices to share a single ISL. 

C. It allows many hosts to share a single storage port. 

D. It involves simplex I/O, meaning only one path is utilized for I/O. 

Correct Answer: A 
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